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1. Answer the following questions as directed : 1x8=8 ! (e) Fill in the blank :

oo ERIREDN RO ST o / “‘
: i ' i Yl I o= 4 3
(@) Fill in the bllank ! Classification is the step in tabulation.
A 5 7j9e T ¢ (ETPe (2R SifewEaed AT |
The smallest natural number is ' . : ' () Write down the formula for finding area of an equilateral triangle.
Faod Fele ARG 26 R faged i [T 51 7@ ]
(b) Write True or False : ' ; _ ® O 1), e
Qfoa

M CAC SRR
e | SiESap i e pi SR
2 is the only even prime number. . ,

G ol GNIfETs AL 23 2. ) ' ' : (h) What are the coordinates of the origin in coordinate geometry ?

ZiE Tyififow g&ﬂ%"@ BIIH G
(c) Fill in the blank :

<AET S 2ol 1 ¢ . f 2. Answer the following questions : | 2x5=10
OoTd ePTIeE T fEdl ¢

is called the ‘Father of Statistics’.

3 sl Rees i e @i 23| : ()

If 1km :% mile, express 49200 metres in miles.

(d) Write True or False : -
I 1 el == Wz, (908 49200 fiviE NEETe 2HH T4 |
5T} (o ey Bl 2 Sl

Sample is a representative part of the population. (b) Divide Rs 3200 in the ratio 7 : 9.
sfforl (2rz TPa Gt efeffaes e s i | 32003@337:9@&9“%%@@@'
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(b) In a 60 litres mixture of water and milk, the ratio of water and milk is

c) Simplify : ‘ :
(c) ﬂ;;llf;%fyo : : 7 : 5. How much milk should be added so that the ratio becomes 5 : 8.
| | 6071 i B AN =N AT AT AR TR 7 : 5 | F9aeE e 2R ST
xm+2n . x3m-8rl ! ¢l C st aiﬁ'(_ﬁ sﬂﬁ W Gﬁ‘z:])ﬁa @ﬂ% S5:8 R?‘?H
Sm-6n : :
G

" (c) By selhng 150 mangoes, a fruit seller gains the selhng price of 30
mangoes. Find the gain percentage.

15051 =% ] Sfee GG F6l [ersis. 305! TE [ wis &1re 03 | 58 *oiH
e <p | |

(d) Find the distance between the points (1,3) and (6, -2).
1,3) 9= (6, -2) [ woR WeR v&e e 41|

(e) Find the area of a tr1angle whose three sides are 26cm, 28 cm and 30cm :
(d) Solve : (any one)

respectively.
<o fargem o1 A< 07 T 26 cm, 28 cm W 30cm | AgEoH et fefar 1 ® O TN T4 ¢ (Fcpleal <or)
~ (.‘ Rl g
i B k[ s
3. Answer the following questions : 3x5=15 ) M iR SR =01
OO SHPTIRY O6d o1l ¢ ~ '
: (R ' T i (i) \/ x +\/1_th
(@ 1 @) _ Rt RN R
2 = 4 b = Z/ ¢ and W Cle= 1 . ; ¥
Hla —bi=3c ( ) (e) Prove that the points (4,2), (7,5) and (9,7) are collinear.

show that (Y3 @)

x+y+z=0. ; .

[ e T @ (4, 2), (7,5) 9% (9, 7) FqEh @@ |
i
OR/ weq ® ©

4. Answer either (a) or (b) : ' 5

(@) A (b) < ReFIeA GbIg Ted 9 ¢
If (af)
; , (@ A person buys an article and sells it at a profit of 5%. If he had bought
a?+b%=7ab, it at 5% less'and sold it for 37 paise less, he would have gained 10%.
Find the original cost price.

show that ‘
et @ 9GS 9ot A R 5% wree [l SR | 1 SgEee AR 5% e
: 1 b . S 37 +i251 T [l FRwTCRCo, remo%ar*an:cmmﬁﬁmmﬁmm
log{§(a+b)}:§(loga+logb). ' Hefa <11
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(b) A rectangular metal plate 1cm thick, 8cm broad and 27cm long is melted 7. Find the ratio in which the point (4,1) divides the Jjoin of the points (6 ;1) ‘

into a cube. Find the difference in surface area of the two solids. and (3 2)'_ ‘ 5
1 (&4, T, 8(5&?@7@1@2765&% T (20 @ 9 G5 T (OIS T4l ; ' ;
: L (6,-1) W% (3, 2) R IRAIM FRICETS (4, 1) R & wpitos Ree w@ Ff 1|
25 | 52 (209 pieE Ay [Hef |
8. If (M)
S. Answer either (a) or (b) : 5)
e _ d
(@) 3t (b) 3 Rz @17 Tea 41 ¢ | _ - o) S
aky ; , dx+c’
' (@) In mixing two types of tea, 2% is wasted. In what ratio tea costing ' prove that
Rs. 60 per kg. be mixed with tea costing Rs. 45 per kg so that by selling - . ‘
the mixture at Rs. 62-:50 per kg, there is a gain of 25% on total outlay. ® . :ZIIHCT T
M iy
74 blzeiies il FCETs 2% 201 2 | 2ifS (% 6055 7 5iRAMR &9 2if e Gl Ui SRR : _ 5
45551 79 bIFTe & SReie izl SR ofs @ s seeii® 62-50 b [erl
SR TS GATS 25% S IR A_1 IR el w44 | * 9. Prove that
(b) The perimeter of a rhombus is 52cm and one of its diagonals is 24 cm. % IR R
Find the other diagonal and the area of the rhombus. e B
' : =3 log,, 2
<51 =HI6= SR 52 (@ T TR GO 99 O 24 (& | TACGR Wi TR f (090 LOR0G 4 L0 ' o
) o= Feifer el 41| . & g
i - OR /%431
. : i ® O '
6. Write what do you know about the functions of Statistics. S A 20m deep well with diameter 7m is dug and the earth from digging is
: evenly spread out to form a platform of 22m x 14m. Find the height of the
Al [eava SRR Fam oft & aml =i : | 4
‘ platform. ( Given 7= —7— ]
OR / G2
2031, 1SR W% 7 7. JFE B F1 A o MHRE FSIE 3= 225 x 14 [, (@i=E
Write a note on distrust of Statistics. :
QR (oAb ergs T 2| (olbeEme el el | (R iR 2= 2
Al [HeeE SIS e bl (GRel {2 | 7 )
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10. Mention the points that should be remembered while drafting a good

guestionnaire. S

ﬁ@WﬂWMWWW@WﬁW@@%WﬁW%WI

11. (a) The area of a square field is 368-64 hectares. Find its perimeter.

a5i 25 21T I 36864 (239 TCE OF AR Fefd 4|
OR /9441

Define the following :

wete AR eeE 1l ¢

(i) Hemisphere
SE@IGE
() Marked price

GRS

(b) Discuss the limitations of Sampling.

AfSbRE AIES! i<l T |

12. (a) Define the following : 2x0=4

oo AICAE el fear ¢ -
(i) Primary data and Secondary data.

32y O S (e w2
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(b)

Cumulative frequency

HLAT q G D]

OR /91

(72 O foas FRAPHE T F |

Discuss the advantages of diagrams and graphs.

Write a note on various types of bar diagrams.

RS epRe webad So® GO G B |

13. (a)

weTe Al O ~fi3ba SE 4 2

19E CMST

Draw a Pie chart of the following data :

' Heads of Expenditure Rs.
4759 fo ikl
Agriculture 12,000
Industries 9,000
Goasist
Irrigation 6,000
G 7
Education 8,000
ik
Communication 5,000
oS
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(b) D15t1pgu1&;h between : (any one) : ) OR / 52/4)

Draft a questionnaire for collecting information regarding the socio-

AL T%{ér[ 2 (Ricprecit «bt) ' ' ‘economic conditions of the people in a locality.
_ ‘ G2 $13 TSR ANLANET Sz R o2y Fkelg FRAT G Rl A5e1
(i) Schedule and Questionnaire . ' ST Fmll
S!S 2o

(ii) Census and Sample survey

foreet i afford 7

14. (@) What do you mean by statistical investigation ? What are the different

stages of statistical investigation ? f2 0= ; 7

SARATISI SR I [ e 2 oA SRS ffen geTE [ /e

(b) Prepare a blank table showing the distribution of the population in.the
four important cities of Assam according to sex, literacy and religion.

4

ST DI wegeld bee ficol, Al S T fofes el [eier (4R e

el SifeTdl 2ES 4 |
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